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R1 = 2 i r1 = 1 i i1 = 1 i R2 = 4 i r2 = 2 i
i2 = 3 i m1 = 4 i m2 = 80 i m3 = 3 im4 =

9 im5 = 9 i β = 45
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R2 = 4 i r2 = 2 i i2 = 2 im1 = 2 im2 = 16 i
m3 = 3 im4 = 9 im5 = 9 i β = 45
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R1 = 2 i r1 = 1 i i1 = 2 i R2 = 3 i r2 = 2 i
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m5 = 9 i β = 45

◦ `

rstsus vwxxyz�y �@A�BC {�~�?~�

�
��

�

� β

m1 = 6 i m2 = 2 im3 = 3 im4 = 9 i m5 =

9 i β = 60
◦ `

rstsus vwxxyz�y �B�@	�C ��=|>=�

�

���

� β

R1 = 3.5 i R2 = 4 i r2 = 3 i i2 = 2 i m1 =

m2 = 2 i m3 = 3 i m4 = 9 i m5 = 18 i
β = 45

◦ `

rstsus vwxxyz�y �@�~�BC@ {���=A@

�

���

� β

R2 = 4 i r2 = 2 i i2 = 2 im1 = 2 im2 = 16 i
m3 = 3 im4 = 9 im5 = 9 i β = 45

◦ `

rstsus vwxxyz�y �=>B|~A�B
�>=�B>=�

�

���
� β

R2 = 4 i r2 = 2 i i2 = 3 im1 = 2 im2 = 12 i
m3 = 3 im4 = 9 im5 = 27 i β = 30

◦ `

rstsus vwxxy��y �=|BC@ <=>@

�
�

�
�
�β

m1 = 12 i m2 = 10 i m3 = 3 i m4 = 9 i
m5 = 9 i β = 30

◦ `

rstsus vwxxy�zy �B�B�~C@ �@?=�=A@

α �

�
�

�

� β

R1 = 2 i r1 = 1 i i1 = 1 i R2 = 3 i r2 = 2 i
i2 = 2 i m1 = 4 i m2 = 24 i m3 = 3 im4 =

18 im5 = 9 i β = 45
◦ `

rstsus vwxxy��y �>~AA=�BC@
�@|��A@

�
�

α

��

�β

R1 = 2 i r1 = 1 i i1 = 1 i R2 = 4 i r2 = 2 i
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